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1 Introduction
Two LTE BS-to-LTE BS interference scenarios are discussed in [1], section 7.1.2.3: interference from wanted part of the aggressor carrier and interference from un-wanted (i.e., OOBE) part of the aggressor carrier. However, the treatment of these scenarios is inconsistent. 
2 Discussion

The analysis of both scenarios proceeds by assuming a transmitted signal level, applying a coupling loss to represent the resulting power at the receiver, and comparing the estimated received power to the receiver requirements found in [2]. 
However, in the analysis of interference from the wanted part, an MCL of 50 dB was assumed, while a coupling loss of 70 dB was assumed for the OOBE analysis. No justification is presented for the difference. 
Presumably, both in-band and out-of-band interference from an interfering transmitter will experience (roughly) the same coupling loss to a receiver. Any foreseeable solution for interference mitigation will have an impact on both in-band and out-of-band interference, so it is important to adopt a consistent analysis for evaluating the interference situation.

RAN-4 has adopted the practice of using 67 dB as the minimum coupling loss (MCL) for evaluation of BS-to-BS interference in FDD systems [3]. Therefore, we propose adjusting the Blocking analysis by 17 dB and adjusting the OOBE analysis by -3 dB.
Further, it appears that an arithmetic mistake was made in the OOBE analysis. Adding the coupling loss (70 dB) to the receiver 1 dB desense threshold (-115 dBm/MHz) yields an allowable OOBE level at the transmitter antenna port of -45 dBm/MHz). Comparing this to the FCC limit cited by [1] (-3 dBm/MHz) indicates a gap of 42 dB instead of 32 dB as presented.  Adjusting the coupling loss from 70 dB to 67 dB suggests the actual gap is 45 dB.
Note that these changes do not alter the conclusion that additional protection is likely required when systems from adjacent bands are deployed in the same area.

Finally, we request the editor to prevent the word processing tool from breaking lines between minus signs and numbers. It’s easy to miss the minus sign when it’s not on the same line as the number it’s negating.
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TEXT PROPOSAL:

<start of text proposal>

7.2.1.3
UE to UE and BS to BS coexistence issues at 849-851 MHz 

While BS to BS coexistence might be feasible to mitigate with filters and site engineering, the UE to UE coexistence might be more difficult to achieve and is FFS. 

LTE BS Tx Power (  LTE BS Receiver (Blocking)

LTE TX Pout = 43dBm/5MHz 

Assuming minimal coupling loss between LTE BS and LTE BS is  67 dB, then the interferer level at LTE BTS is
- 24 dBm/5MHz.
From 3GPP TS 36.104 Table 7.5.1-3 Adjacent channel selectivity for Wide Area BS and Table 7.6.1.1-1 Blocking performance requirement for Wide Area BS, the minimum LTE receiver protection assuming 6dB desense is 
-52dBm for adjacent channels and -43dBm for other in-band channels. Adjusting for a more realistic 1dB desense allowance, the corresponding adjacent and alternate channel protection becomes -63dBm and -54dBm respectively.

Therefore an additional 39 dB of protection is required for an interferer in the adjacent channel spectrum, while interferers elsewhere in band will only require an additional 30 dB of protection.

LTE BS Tx OOBE (  LTE BTS Receiver

Assuming a 1dB desense criteria, the Tx noise from LTE BS (5MHz channel) must be more than 6dB below the LTE BS Rx noise floor. With an LTE BS NF of 5dB, the Tx noise must be less than -115dBm/MHz. Assuming FCC rule 90.691 [90.210] and Industry Canada RSS-119 [90.691] emission limits, the LTE Tx power in the LTE Rx bandwidth is -13dBm/100KHz or -3dBm/MHz. Assuming a coupling loss between LTE Base Stations of 70dB, 67 dB, an additional  45 dB of suppression is required.

The 2MHz guard band (849-851 MHz) with RF filter on the BSs could be enough for certain typical deployments. 

<end of text proposal>



























































































































































































































































































































































































































































































